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GENERAL 
 
 

1. A labourer is paid N5, 400:00k per month. What is his total salary in 1 3/4years? 
 

A. N113,40:00 
 

B. N64,800:00 
 

C. N97,200:00 
 

D. N129,600:00 ANS A 
 

2. Which of the following will sink when placed on water? 
 

A. Ball 
 

B. Plastic Cup 
 

C. Balloon 
 

D. Eraser ANS D 
 

3. The following are domestic birds except 
 

A. Duck 
 

B. Pigeon 
 

C. Turkey 
 

D. Vulture ANS D 
 

4. A boy buys a biscuit for N4 and sells it at a profit of 20%. Find the actual price and the 

selling price? 

A. i =N1.00k, ii = N5.00k 
 

B. i = 60k, ii = N4.40k 
 

C. i = 80k, ii = N4.80k 
 

D. i = 50k, ii = N4.50k ANS C 
 

5. A man buys recharge card for N500. He sells it for N430. What is the percentage 

loss? 

A. 7% 
 

B. 9% 

 
C. Mauritaina 
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D. Ghana    Ans: D 

 

6. An example of confluence town in Nigeria is................................... 
 

A. Onitsha 
 

B. Obudu 
 

C. Lokoja 
 

D. Port Harcout ANS C 
 

7. A trained person that specializes in the treatment of diseases and disorders of the 

teeth is called................ 

A. Cardiologist 
 

B. Dermatologist 
 

C. Physician 
 

D. Dentist ANS D 
 

8. A bricklayer is Paid N1000:00k for 5days work. What is his pay for 22days work? 
 

A. N22,000:00k 
 

B. N50,000:00k 
 

C. N4,400:00k 
 

D. N5,000:00k ANS C 
 

9. In parliamentary system of government, members of the parliament are required to 

report the proceedings of the house to their.............................. 

A. Local government chairman and governors 
 

B. Constituencies 
 

C. Political parties and party stalwarts 
 

D. Traditional rulers ANS B 
 

10. One essential duty of a citizen to his/her state is to........................... 
 

A. Vote and support the government in power 
 

B. Recite the national anthem and the pledge 

C.  Pay his tax 
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D. Encourage other citizens to be loyal ANS C 
 

11. Under whose regime were Delta and Adamawa created? 

A. Gen Sanni Abacha 

B. Gen Yakubu Gowon 

C. Gen Murtala Muhammed 

D. Gen Ibrahim Babangida   ANS D 
 

12. The body charged with the responsibility of regulating and protecting consumers against  
illicit foods and drugs in Nigeria 

A. Consumer Protection Council 

B. Standard Organization of Nigeria 

C. National Drug Law Enforcement Agency 

D. National Agency for Food, Drug Administration and Control   ANS D 
 

13. The Senate President during the second republic was ……….. 

A. Dr. Joseph Wayas 

B. Senator Anyim Pius Anyim 

C. Senator Iyorchia Ayu 

D. Chief Adopous Wabara   ANS A 

14. We eat Carbohydrate food to give us ………. 

A. Energy 

B. Good sight 

C. Good teeth 

D. Strong Bones    ANS A 

15. President Barack Obama is the …………….. President of the United States of America 
and first African-American President of U.S. 

A. 35th 

B. 44th 

C. 40th 

D. 39th      ANS B 
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E.  

16. A Large area of water surrounded by land is called ………… 

A. A dam 

B. An Island 

C. An Iceberg 

D. A Lake    ANS D 
 

17. A written piece of paper which indicates that goods bought and services rendered 

have been paid for is called............................... 

A. An Invoice 
 

B. A receipt 
 

C. A wage bill 
 

D. A trade document ANS B 
 

18. The device for stepping up or down electricity voltage on transmission line is 

called...................... 

A. Electricity meter 
 

B. Transmission station 
 

C. Transformer 
 

D. Step-down panel ANS C 
 

19. The major raw material for pottery is …………………… 

A. Metal 

B. Ceramics 

C. Cement 

D. Clay    ANS D 
 

20. If the total sales for a bag shop in a certain year were ₦150,000. What were sales in 
July, if July sales were half the monthly average? 

A. ₦6,250 

B. ₦8,650 

C. ₦12,500 
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D. ₦7,550  ANS D 
 

21. In UITH, Dr Steve has worked more night shift than Dr. Greg who has worked five 

night shifts. Dr Okon has worked fifteen night shifts more than Dr. Steve and Dr. 

Greg combined. Dr. Uche has worked eight night shifts less than Dr. Steve. How 

many night shifts has Dr, Steve worked? 

A. Ten 

B. Nine 

C. Eight 

D. Seven  ANS B 

22. At a basket match, Roland was sitting in seat 356. Peter on the right of Roland in seat 
355. Samuel was on the left of Roland; Samson was by the left of Samuel. Which seat 
is Samson sitting? 

A. 354 

B. 357 

C. 358 

D. 353  ANS A 

23. While preparing for the post jamb aptitude test, Felix read through pages 35 to 78 and 
102 to 127 of an English text book. How many pages did he read altogether? 

A. 58 

B. 70 

C. 68 

D. 64  ANS B 

 

24. How many numbers between 1 and 60 begins or end with 5 

A. 5 

B. 15 

C. 18 

D. 26  ANS C 
 
 

25. A researcher conducted in the laboratory showed that 55% rats died of liver 
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disorder when exposed to sulphur dioxide but 96% of rats who died of liver 

disorder were not exposed to sulphur dioxide. This means that, 

 

A. Small portion of studied rats was exposed to Sulphur dioxide 

B. There is only one cause of fatal liver disease in rats 

C. Sulphur dioxide is not particularly dangerous to theliver of rats 
 

D. Most rats will not suffer from exposure to low level of Sulphur dioxide. ANS A 
 

26. Three people witnessed a lady who was robbed in a cyber café and they were 

asked to describe the mugger. Which of the following best described the mugger? 

A. He was tall, of average weight and middle-aged 

B. He was tall, thin and young 
 

C. He was average height, thin and middle-aged 
 

D. He was tall, thin and middle-aged ANS D 
 

27. If 15 cans of food are needed for seven adults for two days, the number of cans 

needed to feed four adults for seven days is? 

A. 25 

B. 15 

C. 20 

D. 30   ANS D 
 

28. Which one of the following key techniques is necessary for all the others to 

be effective? 

A. Communication 

B. Teamwork 

C. Leadership 

D. Technical know-how ANS A 
 

29. How many Lunar months make one year 

A. 13 

B. 11 
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C. 12 

D. 14   ANS A 
 

 

30. Two-third of a class passed English Language as a subject. The number of 

students who failed English Language will be? 

A.  
1
/3 

B. 
1
/2  

C. 
1
/4  

D. 
3
/4    ANS A 

 

31.  “My Heart Jumped into my mouth” What is the meaning of the above statement? 
 

A. To be confused 
B. To be hungry 
C. To be afraid 
D. To be discouraged ANS C 

 

32. It was Friday on Jan 1, 2010. What was the day of the week Jan 1, 2011? 
    

    

A. Sunday 

B. Wednesday 

C. Thursday 

D. Saturday   ANS D 

 
33. Today is Monday. After 63 days, it will be: 

    

    

A. Wednesday 

B. Monday 

C. Tuesday 

D. Saturday   ANS B 

 
34. AT 10% DISCOUNT, AN ITEM VALUED AT N45000 NOW COST 

 

A. 4050 

B. 40500 
 

C. 40505 
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D. 40550                            ANS D 
 

 

35. IN WHICH COUNTRY IS MISSISSIPPI RIVER 
 

A. USA 
 

B. ARGENTINA 
 

C. BRAZIL 
 

D. CANADA. ANS A 
 

36. ON A ROAD MAP, A LINE SEGMENT OF 4 INCHES LONG REPRESENTS A 

DISDANCE OF 12 MILES. HOW MANY MILES LONG IS 4.5 INCHES. 

A. 12.5 

B. 13.5 

C. 14.5 

D. 15.5   ANS B 
 

37. THE BREATH AND LENTH OF A RECTANGLE ARE L AND 2L RESPECTIVELY. 

WHAT IS THE PERIMETER OF THE RECTANGLE? 

A. L 

B. 3L 

C. 5L 

D. 6L   ANS D 
 

38. THE PLACE WHERE WATER IS FOUND IN THE DESERT IS 

CALLED  

A. LAKE 

B. DAM 

C. DIFF 

D. OASIS   ANS D 

 

39. WHICH OF THE FOLLOWING HAS THE HIGHEST POPULATION IN THE WORLD 
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A. INDIA 

B. RUSSIA 

C. CHINA 

D. USA   ANS C 
40. THE SCIENTIFIC WAY OF REFERRING TO THE ACTIVITY OF THE 

EAR IS  

A. AUDIO VISUAL 

B. AUDIO 

C. VISUAL 

D. CHEMORECPTOR  ANS B 

 

42. THE UPPER LEGISLATIVE ARM OF GOVERNMENT IN NIGERIA IS HEADED 

BY 

A.  SPEAKER 

B. PRESIDENT 

C. LEADER 

D. SECRETARY  ANS B 

43. THE DEGREE OF HOTNESS AND COLDNESS OF A PLACE IS 

CALLED  

A. RAINFALL 

B. HUMIDITY 

C. TEMPERATURE 

D. WEATHER  ANS C 

 

44. A PLACE WHERE TWO RIVERS MEET  

A.  CONFLUENCE 

B. JUNCTION 

C. JOINT 

D. DELTA   ANS A 

IS CALLED 
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45. THE PRIMARY SOURCE OF ENERGY IS  

A. SUNLIGHT 

B. WATER 

C. FOOD 

D. HEAT   ANS A 
 

46. THE FIRST COLOUR OF THE RAINBOW IS  

A. GREEN 

B. VIOLET 

C. RED 

D. INDIGO   ANS C 

 

47. WHICH OF THE FOLLOWING IS NOT A  

A. WHALE 

B. DOG 

C. CAT 

D. SHARK   ANS D 

 

48. AVIAN FLU IS A DISEASE IN WHICH OF THE  

A. MAMMALS 

B. BIRDS 

C. PICES 

D. AMPHIBIANS 

 

49. WHICH OF THE FOLLOWING IS NOT AN EXCRETORY  

A. SWEAT 

B. UREA 

C. FAECES 

D. URINE   ANS C 

CALLED 

CALLED 

MAMMAL 

FOLLOWING 

PRODUCT 
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50. THE NAME OF A YOUNG LION IS CALLED 
 
A. KITTEN 
B. KELVIN 
C. CUB 
D. CUDE   ANS C 

 

51. THE NAME OF AN EQUIPMENT FOR MEASURING PRESSURE IS CALLED 
 
A. BAROMETER 
B. GAUGE 
C. HYGROMETER 
D. THERMOMETER ANS C 

 
 

52. WHAT IS THE ANGLE IN DEGREES ON A STRAIGHT LINE 
 
A. 90 
B. 180 
C. 60 
D. 30   ANS B 

 

53. WHAT O.005KILOGRAMMES TO  

A. 5000 

B. 500 

C. 50 

D. 5    ANS D 

 

54. WHAT IS THE VALUE OF DCXL 
 
A. 640 
B. 504 
C. 540 
D. 600   ANS A 

 
 

55. Choose the odd one among the followings, 
 

A. Cougar 
 

B. Hyena 
C. Cheetah 
D. Leopard 

 

GRAMMES 
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56. Which among the following does not belong to the group, 
 

A. Brigadier 
 

B. Colonel 
 

C. Navy Captain 
 

D. Group Captain ANS A 
 

57. In which part of Africa will you find Tanzania 
 

A. West Africa 
 

B. North Africa 
 

C. Southern Africa 
 

D. East Africa ANS D 
 

58. A hexagonal kite has --- sides. 
 

A. 5 
 

B. 6 
 

C. 4 
 

D. 7 ANS B 
 

59. The followings are true concerning a trapezium except 
 

A. It does not have any line of symmetry 
 

B. All the sides are of different lengths 
 

C. All the angles are of different sizes 
 

D. It has two angles equal but others different. ANS D 
 

60. A man bought 100 eggs at N1500.00, 10 eggs were damaged. He sold the rest at 

N20.00 each. Calculate the percentage profit made. 

A. 17 
 

B. 15 
 

C. 20 
D. 12      ANS C 

 

61. In a leap year a baker baked 500,000 loaves of bread, how many loaves did the baker 

bake in February, if his working days are Mondays to Saturdays? 
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A. 1592 

B. 39800 

C. 38208 

D. 46168     ANS C 

 

 

62. In Nigeria democracy day is marked on 
 

A. June 12 
 

B. May 29 
 

C. June 29 
 

D. May 27 ANS B 
 

63. The ----------------- originated the division of time as base of 60 
 

A. Babylonians 
 

B. Americans 
 

C. Romans 
 

D. Arabs ANS A 
 

64. In the computer browser address field, what does the abbreviation www stands for 
 

A. world wide web 
 

B. word wide web 
 

C. web wide world 
 

D. wide web world ANS A 
 

65. The earth is the ----------- planet from the sun 
 

A. 3rd 
B. 4th 
C. 2nd 
D. 5th    ------------     ANS A 

66. The following deceases are transmitted by mosquitoes except 
 

A. Yellow fever 
 

B. Dengue fever 
 

C. West Nile fever 
 

D. Hepatitis fever ANS D 
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67. In a coding system numbers 0 to 9 are coded a to j respectively, what will be the 

code for the number 4238 

A. ebdj 
 

B. fdei 
 

C. ecdi 
 

D. dbch ANS C 
 

68. Obtain the missing number in the following sequence: 2, 3, 5, 8, --------- , 17, 23, 30 
 

A. 13 
 

B. 12 
 

C. 11 
 

D. 14 ANS B 
 

69. A retailer sells at a discount of 15% of the marked price, if a customer pays N16,700. 00 

for an item, what is the marked price of the item? 

A. N 19,650.00 
 

B. N 13,750.00 
 

C. N 20,700.00 
 

D. N 22,700.00 ANS A 
 

70. Given that G is directly proportional to the square of H. If G is 5 when H is 3, Find H 

when G is 100 

A. 150 
 

B. 125 

C. 180 
 

D. 225 ANS C 
 

71. Late Idi Amin Dada was from which of the following countries 
 

A. Kenya 
 

B. Tanzania 
 

C. Uganda 
 

D. Congo Brazzaville  ANS C 
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72. River Nile has its source from 
 

A. Lake Chad 
 

B. Lake Victoria 
 

C. Lake Tanganyika 
 

D. Lake Albert ANS B 
 

The first Nigerian 
 

73. Who was the head of state when Nigeria first won the African Cup of Nations, 
 

A. Shehu Shagari 
 

B. Muhammadu Buhari 
 

C. Muritala Muhammed 
 

D. Ibrahim Babangida ANS A 
 

74. Which is the odd one out among the followings, 
 

A. African National Congress 
 

B. Social Democratic Party 
 

C. National Republican Convention 
 

D. All Peoples Party ANS A 
 

75. The last military head of state in Nigeria was 
 

A. Sanni Abacha 
 

B. Ibrahim Babangida 

C. Abubakar Abdulsalam 
 

D. Muritala Muhammed ANS C 
 

76. GSM telephony was introduced into Nigeria communication system during the 

regime of 

A. Ibrahim Babangida 
 

B. Olusegun Obasanjo 
 

C. Umaru Yar‟adua 
 

D. Goodluck Jonathan ANSB 
 

77. The following Nigerian footballers have won the African Footballer Award except 
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A. Victor Ikpeba 
 

B. Nwankwo Kanu 
 

C. Rasheed Yekini 
 

D. Austin Okocha ANS D 
 

78. Kofi Annan is well known for his role as 
 

A. President of Ghana 
 

B. Secretary General of United Nations 
 

C. Secretary General of the African Union 
 

D. President of the United Nations ANS B 

 

 
79. Complete the followings; Ooni and Osun, Sultan and Sokoto, Obi and Anambra, El 

Kanemi and -------- 

A. Kaduna 
 

B. Borno 
 

C. Katsina 
 

D. Yobe ANS B 
 

80. In which part of Nigeria will you find relics of groundnut pyramids 

A. Kano 
 

B. Jos 
 

C. Sokoto 
 

D. Maiduguri ANS A 
 

81. Nnamdi Azikwe International Airport is found in 
 

A. Enugu 
 

B. Port Harcourt 
 

C. Abuja 
 

D. Calabar ANS C 
 

82. The time zone operative in Nigeria is 
 

A. GMT 
B. +1 GMT 
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C. – 1 GMT 
D. +2 GMT     ANS B 

 
 

 

83. The rotation of the earth on its axis is used in the measurement of 
 

A. Time 
 

B. Weather 
 

C. Temperature 
 

D. Pressure ANS A 
 

84. The Nigerian currency in use before the change to the Naira was the 
 

A. Pound 
 

B. Dollar 
 

C. Riyal 
 

D. CFA ANS A 
 

85. An oncologist is a medical practitioner specialized in the treatment of 
 

A. Tumours 

B. Fibroids 
 

C. Obesities 
 

D. Ulcers ANS A 
 

86. In which of the following African countries will you find a confluence of two oceans 
 

A. South Africa 
 

B. Nigeria 
 

C. Somalia 
 

D. Senegal ANS A 
 

87. Choose the odd one out among the followings: 
 

A. Peru 
 

B. Venezuela 
 

C. Bolivia 
 

D. Indonesia ANS D 
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88. The capital city of Rwanda is 
 

A. Khartoum 
 

B. Kabul 
 

C. Kigali 
 

D. Kingston ANS C 
 

89. The geographic equator passes through which of the following countries 
 

A. Uganda 
 

B. Zambia 
 

C. Nigeria 
 

D. Cameroon ANS A 
 

90. Which of the followings is not a planet 
 

A. Pluto 
 

B. Mercury 

C. Venus 
 

D. Moon ANS D 
 

91. Which of the followings is a star? 
 

A. Earth 
 

B. Sun 
 

C. Moon 
 

D. Nebula ANS B 
 

92. The River Niger has its source from 
 

A. Fouta Djallon Island 
 

B. Lake Guinea 
 

C. Upper Volta 
 

D. Timbuktu ANS A 
 

93. The earth is mainly covered with 
 

A. Water 
 

B. Land 
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C. Equal amount of land and water 
 

D. Mountains ANS A 

 

 
94. Car is to road as train is to 

A. Wheels 

B. B. Rails 

C. C. Surface 

D. D. Locomotive ANS B 
 

95. Which is the odd one out? 

A. Hockey 

B. B. Exercise 

C. C. Tennis 

D. D. Football ANS B 
 

96. A forest is to a tree as a tree is to a 

• Leaf 

• B. Orchard 

• C. Jungle 

• D. Plant ANS A 

 

97. A rancher plans to add a post between every two posts of an open-ended (straight) 
fence. If he currently has 10 posts in the fence, how many does he need to insert? 

A. 5 

B. B. 9 

C. C. 10 

D. D. 20 

E. ANS B 

98. Complete the series English, French, Hindi, Arabic 

ii. Swahili 

iii. Language 

iv. Dialect 

v. Africa ANS A 

 

99. If you were to add all odd numbers between 1 and 11 (both inclusive), the result would be 

A. Even  

B. Odd 
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C. Normal 

D. Impossible to say ANS A 

100. When Jack, James, Jim and Jane stand by age, Jack being the youngest stands 

first while James brings up the rear. However, when they stand by height, Jim being the 

shortest stands first while James comes to the third spot. In both lines Jane remains at the 

second position. Who is immediately younger than James? 

A. Jack 

B. James 

C. Jim 

D. Jane      ANS C 
 

101. The day after tomorrow is three days before a Monday. What day is it today? 

A. Monday 

B. Tuesday 

C. Wednesday 

D. Thursday  ANS C 

102. Which is the next number is the series? 18, 13, 9, 6, 4,. 

A. 1 

B. 2 

C. 3 

D. 4      ANS C 

103. Steam is to water as liquid is to 

A. Ice 

B. Solid 

C. Vapour 

D. Snow      ANS B 

104. What will be the total weight of 10 poles, each of the same weight? If: 

II. One-fourth of the weight of each pole is 5 kg. 

III. The total weight of three poles is 20 kilograms more than the total 
weight of two poles. 

A. I alone is sufficient while II alone is not sufficient to answer the question 

B. II alone is sufficient while I alone is not sufficient 

C. Either I or II is sufficient 

D. Neither I nor II is sufficient 

E. Both I and II are sufficient  ANS E 

105. How much was the total sale of a company if: 
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I. The company sold 8000 units of product A each costing N 25.00 

II. This company has no other product line. 

A. I alone is sufficient while II alone is not sufficient to deduce the answer 

B. II alone is sufficient while I alone is not sufficient 

C. Either I or II is sufficient 

D. Neither I nor II is sufficient 

E. Both I and II are sufficient  ANS D 

 

106. Tanya is older than Eric.  

  Cliff is older than Tanya. 

  Eric is older than Cliff. 

  If the first two statements are true, the third statement is 

A. True 

B. False 

C. Uncertain 

D. None of the above   ANS B 

107. Blueberries cost more than strawberries.   

  Blueberries cost less than raspberries. 

  Raspberries cost more than both strawberries and blueberries.  

  If the first two statements are true, the third statement is 

A. True 

B. False 

C. Uncertain 

D. None of the above   ANS A 

108. All the trees in the park are flowering trees.  

 Some of the trees in the park are dogwoods. 

 All dogwoods in the park are flowering trees. 

 If the first two statements are true, the third statement is 

A. true 

B. false 

C. uncertain 

D. None of the above   ANS A 

 

109. Ade runs faster than Ola. Ayo runs faster than Ade. Ola runs faster than Ayo.  

 If the first two statements are true, the third statement is 

A. true 

B. false 
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C. uncertain 

D. None of the above ANS B 

110. All the tulips in Zoe's garden are white.  

 All the pansies in Zoe's garden are yellow. 

 All the flowers in Zoe's garden are either white or yellow. 

 If the first two statements are true, the third statement is 

A. true 

B. false 

C. uncertain 

D. None of the above ANS C 

111. Fact 1: All drink mixes are beverages.  

 Fact 2: All beverages are drinkable.  

 Fact 3: Some beverages are red. 

 If the first three statements are facts, which of the following statements  

 must also be a fact? 

I. Some drink mixes are red. 

II. All beverages are drink mixes. III: All red drink mixes are drinkable. 

 
A. I only 

B. II only 

C. I and III only 

D. None of the statements is a known fact. ANS C 

 

112. Fact 1: Eyeglass frames cost between $35 and $350.  

 Fact 2: Some eyeglass frames are made of titanium.  

 Fact 3: Some eyeglass frames are made of plastic. 

 If the first three statements are facts, which of the following statements      

 must also be a fact? 

 I:  Titanium eyeglass frames cost more than plastic frames.    

II:  Expensive eyeglass frames last longer than cheap frames.  

III: Only a few eyeglass frames cost less than $35. 

 
A. I only 

B. II only 

C. II and III only 

D. None of the statements is a known fact. ANS D 
 

 

113. Fact 1: Mary said, "Ann and I both have cats." 
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 Fact 2: Ann said, "I don't have a cat." 

 Fact 3: Mary always tells the truth, but Ann sometimes lies. 

 If the first three statements are facts, which of the following  

 statements must also be a fact? 

I:    Ann has a cat.  

II:   Mary has a cat.   

III:  Ann is lying. 

 
A. I only 

B. II only 

C. I and II only 

D. All the statements are facts.     ANS D 

 

114. Fact 1: Pictures can tell a story. 

 Fact 2: All storybooks have pictures. 

 Fact 3: Some storybooks have words. 

 If the first three statements are facts, which of the following  

 statements must also be a fact? 

I: Pictures can tell a story better than words can.  

II: The stories in storybooks are very simple. 

III:  Some storybooks have both words and pictures. 

 
A. I only 

B. II only 

C. III only 

D. None of the statements is a known fact. ANS C 
 

115. Fact 1: Some pens don't write.  

 Fact 2: All blue pens write. 

 Fact 3: Some writing utensils are pens. 

 If the first three statements are facts, which of the following  

 statements must also be a fact? 

I: Some writing utensils don't write.  

II: Some writing utensils are blue. 

III: Some blue writing utensils don't write. 

 
A. I only 

B. I and II only 

C. II and III only 

D. None of the statements is a known fact. ANS B 
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116. At the baseball game, Henry was sitting in seat 253.  

 Marla was sitting to the right of Henry in seat 254.  

 In the seat to the left of Henry was George.  

 Inez was sitting to the left of George. Which seat is Inez sitting in? 

 

 

A. 251 

B. 254 

C. 255 

D. 256        ANS A 

117. Pedro goes hunting or fishing every day. If it is snowing and windy, then Pedro goes 
hunting. If it is sunny and not windy then Pedro goes fishing. Sometimes it can be 
snowing and sunny. Which of the following statements must be true? 

A. If it is not sunny and it is snowing then Pedro goes hunting 

B. If it is windy and Pedro does not go hunting then it is not snowing 

C. If it is windy and not sunny then Pedro goes hunting 

D. If it is windy and sunny then Pedro goes hunting 

E. If it is snowing and sunny then Pedro goes hunting ANS B 

118. A group of friends live in a house divided into one flat per floor. Tony is in the flat 
below Julie and Madeleine is in the flat above Sarah. Sarah is in the flat below Tony and 
Julie lives with Roger. Peter lives on the top floor. Who is in the bottom flat? 

A. Tony 

B. Julie 

C. Madeleine 

D. Sarah 

E. Peter ANS C 
 

119. A group of friends live in a house divided into one flat per floor. Tony is in the flat 
below Julie and Madeleine is in the flat above Sarah. Sarah is in the flat below Tony 
and Julie lives with Roger. Peter lives on the top floor. Apart from Julie and Roger, who 
else shares a flat? 

A. Tony 

B. Julie 
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C. Madeleine 

D. Sarah 

E. Peter         ANS A 

 
 
 

120. Jane can play the piano but not the flute while Jeremy plays the violin and the flute. 
Shelly plays the violin but not the piano and Josephine plays the flute but not the 
violin. If each child plays two of the three instruments, which one is likely to be 
similar to Jeremy? 

A. Shelly 

B. Jane 

C. Josephine ANS B 

 

121. Which of the following cannot be used to travel from Portharcourt to Kano? 

 

A. Motor car 
 

B. Train 
 

C. Boat 
 

D. Aeroplane ANS D 

 

122. If you were one of the students instructed to fill a basket with water, knowing fully well that 

a basket is a well perforated object. How would you fill it? 

A.  It is impossible 
 

B. Will use big bucket to fill it 
 

C. Immerse it in a pool of water 
 

D. Immerse it in a pool of water and quickly take it out ANS C 

 

123. In the understanding of the actual arrangement, the sun revolves round the earth 
 

A. Always 
 

B. Often 
 

C. Never 
 

D. Sometimes ANS C 
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124. Which of the following gives the best logical sequence of events? 

 

A. The lorry crashed into the stream. The flood covered the bridge. It was dark. 

B. The lorry crashed into the stream. It was dark. The flood covered the 

bridge. 

C. It was dark. The flood covered the bridge. The lorry crashed into the 

stream. 

D. It was dark. The lorry crashed into the stream. The flood covered the 

bridge.       ANS C 

 

125. Which sequential order best describe the events in the following? 

 

A. Tomorrow may be too late. You may regret time wasted. Make hay while 

sun shines. 

B. Make hay while sun shines. You may regret time wasted. Tomorrow may be 

too late. 

C. Make hay while sun shines. Tomorrow may be too late. You may regret 

time wasted. 

D. You may regret time wasted. Make hay while sun shines. Tomorrow may be too 
late.         ANS C 

 

126. The largest known planet is? 
 

A. Sun 
 

B. Uranus 
 

C. Jupiter 
 

D. Earth ANS C 

 

127. The largest continent on earth is? 

 
 

A. Africa 
 

B. Australia 
 

C. North America 
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D. Asia ANS D 

 

128. 50 men can build a house in 60 days. How many more men of equal strength and ability 

must be put on so as to finish a similar house in 40 days? 

 

A. 20 men 
 

B. 30 men 
 

C. 35 men 
 

D. 25 men ANS D 

 

129. A group of letters that is added to the beginning of a word in order to change its meaning 

e.g „‟un‟‟, „‟anti‟‟, is? 

 

A. Suffix 
 

B. Antonym 
 

C. Prefix 
 

D. Pronouns ANS C 

 

130. Pastoral nomadic is a common characteristics of the ……………….. 

 

A. Hausas 

B. Igbo‟s 
 

C. Fulani‟s 
 

D. Yoruba ANS C 

 

131. Choose the two statements that would necessarily make the given piece of information 

true: 

 

Fifty candidates sat for the examination. 
 

I) Twenty candidates answered under half the questions 

II) There were ten failures in the examination 

III) Over half the questions were answered by thirty candidates 

IV) Forty candidates were successful. 
 

A. I & IV 
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B. II & IV 

C. II & III 

D. III & IV      ANS B 

 

132. Third World countries are found in? 

 

A. Europe, Asia and Soviet Union 

B. Africa, Asia and Latin America 

C. North and South America 

D. Asia 

133. There is a big hole in my pocket means? 

A. My pocket is leaking 

B. My money comes and goes away fast 

C. My pocket is torn 

D. My pocket is not in good shape 

 

134. He got the job and suddenly became swollen head 

A. The job is full of hazards 

B. The job made him become proud 

C. The job made him a big man 

D. The job made him wealthy 

 

135. Which of the following is arranged in wrong ascending order? 
 

A. Feet-Body -Head 
 

B. Middle-Top-Bottom 
 

C. Root-Stem-Leaves 
 

D. Sea-Land-Mountain ANS: B 
 

136. Which correspondence is wrong matching? 
 

A. nose-breathing-air 
 

B. mouth-laughing-sound 
 

C. eyes-seeing-heat 
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D. feet-motion-distance ANS: C 
 

137. Which of the following is the correct term for entering an aircraft? 
 

A. enter 
 

B. board 
 

C. transit 

 
D. tranceed      ANS: B 

 

 

138. Which of the following is wrong? 
 

A. Plane crash 

B. boat sink 
 

C. Car accident 
 

D. ship wreck  ANS: B 
 

139. The officials accompanying a VIP for protection purpose are referred to as 
 

A. Police 
 

B. Escort 
 

C. Soldier 
 

D. Mobile  ANS: B 
 

140. Someone who persist in doing the wrong thing even after he has been

 punished is said to be 

   

A. Stubborn 

B. Heady 

C. Recalcitrant 

D. Disobedient 
 

141. Random sampling is connected more with 

A. Mathematics 

B. Additional Mathematics 

C. Algebra 
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D. Statistics      ANS: D 

142. FM in radio operation means 

A. Far medium transmission 

B. Mega Frequency transmission 

C. Modulated Frequency transmission 

D. Modern Frequency Transmission   ANS: C 

143. Inferiority complex is used to describe 

A. A mathematical complex inferior to algorithm 

B. A Feeling that one is not as good or intelligent as other people 

C. A mathematical complex describing an inferior integral 

D. A life inferior complex   ANS: B 

144. The term LAN in Computer Systems means 

A. Local Area Net Work 

B. Low Antenna Net Work 

C. Low Attenuated Net Work 

D. logarithmic Advanced Net Work Ans. A 

145. Two digit percentage inflation means 

A. less than two decimal places 

B. from 10-99 

C. more than two decimal places 

D. above twenty   Ans. B 

 

146. The expression 2 x 2 x 2 is equal to 8 can be expressed as 

A. quadruple 2 

B. triple 2 

C. cubic 2 

D. thrice 2   Ans. C 

147. The head of a parliamentary system of Government is 
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A. The Prime Minister 

B. The President 

C. The Queen 

D. The King Ans. A 

148. A 3 -3 bedroom flat in Abuja costs 1 million naira per annum. The same flat in Ilorin, the         
Kwara State capital will cost 

A. Much less than 1 million naira 

B. exactly the same amount 

C. 0.5 million naira 

D. About 700 thousand naira. Ans. A 

 

149. Seconds, minutes, hours are units with definite converts faction which of the following is  
not 

A. inch, feet yard 

B. naira, dollar, pound 

C. centimeter, meter, kilometer 

D. centigrade, fahcuhelt, Celsius Ans. B 

150. The figure “O O” is a representative of the figures “ X X”. How many such figures are 
between the numbers 10 and 100 

A.  0.0 

B. 90 

C. 9 

D. 19      ANS C 

151. Mrs. Felicia Ojo borrowed ten (10) tiers of gari from her neighbour, Mrs Comfort 
Chinedu and promises to return it three fold, the following month. How many tiers of gari 
will she return? 

A.  3 

B. 13 

C. 30 

D. 10      ANS C 

152.  Divide 666 cowries between 6 women traditional gods worshipers. How much does 
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each receive? 

A. 111 

B. 110 

C. 66 

D. 660      ANS A 

153.  Write in full figures 10
6
 

A.  60 

B. 6.0 

C. 106 

D. 1,000,000     ANS D 

 

154. This small pest is commonly found on body or clothes of people living in dirty condition: 

A. Lice 

B. Mite 

C. mosquito 

D. cricket  ANS A 

 

155. This insert is the odd one among these four: 

A. cricket 

B. grasshopper 

C. locust 

D. cockwash ANS D 

 

156. This utensil is a different class 

A. kerosene stove 

B. Gas cooker 

C. Electric cooker 

D. Frying pan     ANS D 

157. These are local forming tools except one 

A. cutlass 

B. hoe 
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C. shovel 

D. spoon    ANS D 

 

158. I am 10 years old my sister is 4, in how many years shall I be twice as old as she will be? 

A. 3 

B. 4 

C. 2 

D. 5      ANS C 

 

159. Bola had fewer sums right than ojo, ojo had fewer sums right than Dele. Which had the 
most right answers? 

A.  Bola 

B. Ojo and Bola 
 

C. Dele 
 

D. Bola and Dele     ANS C 

 

160. My holiday starts in six days‟ time. Yesterday was my birth day –Friday June 23
rd
.On 

which day of the week will my holiday start? 

A.  Fri. 30th June 

B. Wed.30
th 
June 

 

C. Tues.29
th  

June 
 

D. Sat.26
th 

July.     ANS A 

161. Yemi was not at school at Friday last. She was first absent three days before that. 

Today is Monday 31
st 
May. When was Yemi first absent? Give the day and date. 

A.  Tues.25
th 

May 

B. Wed. 29 April 
 

C. Mon. 1
st 
June 

 

D. Mon. 27 April     ANS A 

162. Mary and Jane are both clever. Jean and Jane are tall. Mary and Jean are dark. My 
friend is tall and clever. Who is she? 
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A.  Mary 

B. Jane 
 

C. Jean and Jane 
 

D. Mary and Jane     ANS B 

163. Audu is taller than Laide but shorter than Deji. Deji is of the same height as Taiwo. Who 
is the shortest? 

A.  Audu 

B. Laide 

C. Deji 

D. Taiwo      ANS B 

 

164. Bisi is older than Ore, Dele is older than Bisi. Who is the youngest of all? 

A. None  

B. Bisi 

C. Ore 

D. Dele.      ANS C 

165. Abayo, Tope, Femi and Seyi are friends. Only Abayo likes going to the theatre.Only Tope 
and Seyi like the cinema. Only Femi and Seyi like dancing. Which boy likes neither 
dancing nor cinema? 

A. Tope  

B. Seyi  

C. Abayo 

D. Femi.      ANS C 
 

166. I do not like grapes or bananas but I have bought some fruits to eat. Do you think it is 

grapes, bananas, both or neither? 

A. Grapes 

B. Bananas 
 

C. Both 
 

D. Neither     ANS D 
 

167. There is a boat with a ladder attached to it and the ladder is eight metres tall if the 
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water rises four metres how much of the ladder will be on to of the water? 

A. 12 metres 

B. 48 metres 
 

C. 8 metres 
 

D. 10 metres    ANS C 

 

168. I thought the time was ten minutes to two ,but I was looking at the clock in a mirror. 

What time was it really? 

A. ten minutes to two 

B. ten minutes after two 

C. ten to ten 

D. Ten to three.     ANS B 

 

 
ANALOGIES AND ASSOCIATIONS. 

  

Choose the correct word to complete the analogies. 
 

169. Gloves are to hands as shoes are to: 
 

A. Boxers 
B. Hands 

 

C. feet 
 

D. Legs    ANS C 
 

Choose the correct word to complete the analogies. 
 

170. Up is to down as before is to: 
 

A. Later 
B. After 
C. Now 
D. next      ANS B 

 

Choose the correct word to complete the analogies. 
 

171. Sew is to needle as dig is to: 
 

A. Garden 
B. Plant 
C. Poke 
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D. spade 

 Choose the correct word to complete the analogies. 
 

172. School is to pupils, as army is to: 
 

A. Teachers 
B. Chiefs 
C. Soldier 
D. Barracks     ANS D 

 

Choose the correct word to complete the analogies. 
 

173. Feather is to bird as fin is to: 
 

A. Finish 
B. fish 

 

C. crab 
 

D. finies     ANS B 
 

Choose the correct word to complete the analogies. 
 

174. Tall is to short as broad is to: 
 

A. Wide 
B. long 

 

C. straight 
 

D. narrow      ANS D 
 

Choose the correct word to complete the analogies. 
 

175. Orange is to peel as nut is to : 
 

A. Kernel 
B. Rind 

 

C. shell 
 

D. fruit      ANS A 
 

Choose the correct word to complete the analogies. 
 

176. Hour is to time as kilometer is to: 
 

A. Metre 

B. Day 
 

C. Speed 
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D. Distance     ANS D 

 
Choose the correct word to complete the analogies. 

 

177. Water and ship, air and: 
 

A. Breathing 
B. Flying 

 

C. Aeroplane 
 

D. Airfield     ANS C 
 

 
 
 
 
 
Choose the correct word to complete the analogies. 

 

178. Poem is to a poet, as --- is to a novelist: 
 

A. Writer 
B. author 

 

C. story 
 

D. novel     ANS D 

 

Choose from the alternatives, the word which is missing from the pairs 
 

179. Merchant and selling ,artist and: 
 

A. Picture 
B. painting 

 

C. paints 
 

D. brushes     ANS B 

 

Choose from the alternatives, the word which is missing from the pairs 
 

180. Paper and wall, carpet and: 

A. rug  

B. lino 

C. floor 
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D. room      ANS C 
 

Choose from the alternatives, the word which is missing from the pairs 
 

181. Bees and ----Pigs and sty: 
 

A. Hive 
B. kernel 

 

C. Hole 
 

D. Sty     ANS A 
 

Choose from the alternatives, the word which is missing from the pairs 
 

182. Chop is to steak as --- is to mutton and : 
 

A. Cutlet 
B. ham 

 

C. pork 
 

D. veal     ANS A 
 

Choose from the alternatives, the word which is missing from the pairs 
 

183. Hold and hand, Kneel and: 
 

A. Ankle 
B. Foot 

 

C. Heel 
 

D. Knee    ANS D 
 

Choose from the alternatives, the word which is missing from the pairs 
 

184. Bed and mattress, chair and: 
 

A. Table 
B. Pillow 

 

C. Cushion 
 

D. Stool    ANS C 

 
Choose from the alternatives, the word which is missing from the pairs 

185. Knife is to cutting as pen is to: 
 

A. Pencil 
B. paper 

 

https://www.past2pass.com/
file:///C:/Users/USER/AppData/Roaming/Microsoft/Word/bit.ly/schoolbiro


 
https://www.past2pass.com/ 

 

 
Join schoolbiro Whatsapp groups for latest update 

           

bit.ly/schoolbiro or chat 08142529118 

 

C. fork 
 

D. writing     ANS D 
 

Choose from the alternatives, the word which is missing from the pairs 
 

186. Trumpet is to blow as gong is to: 
 

A. Bellow 
B. strike 

 

C. pluck 
 

D. pull     ANS B 

 

 
 
 
SYNONYMS 

 

Choose a word which has the same or nearly the same meaning as the first word. 
 

187. Feeble: 
 
A. Strong 
B. weak 

 

C. Tired 
 

D. Little    ANS B 
 

Choose a word which has the same or nearly the same meaning as the first word. 

 
188. Astonish: 

 

A. Asunder 
B. attack 

 

C. surprise 
 

D. Sensible     ANS C 

 

Choose a word which has the same or nearly the same meaning as the first word. 

 

189. Miserable: 
 
A. Mischief 
B. Wretched 

 

C. Mistake 
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D. Wicked     ANS B 
 

Choose a word which has the same or nearly the same meaning as the first word. 

 
190. Stubborn: 

 
A. Obstinate 
B. sturdy 

 

C. Fearful 
 

D. strong     ANS A 
 

Choose a word which has the same or nearly the same meaning as the first word. 

 
191. Permanent: 

 
 

A. Temporary 
B. old 

 

C. lasting 
 

D. complete    ANS C 
 

Choose a word which has the same or nearly the same meaning as the first word. 
 

192. Boss: 
 
A. Governor 
B. Servant 

 

C. Mistress 
 

D. master     ANS D 
 

Choose a word which has the same or nearly the same meaning as the first word. 

 
193. Dear: 

 

A. Precious 

B. cheap 
 

C. nice 
 

D. useless     ANS A 
 

Choose a word which has the same or nearly the same meaning as the first word. 

 
194. Elegance: 

 

A. Grace 
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B. display 
 

C. safety 
 

D. ugly     ANS A 
 

Choose a word which has the same or nearly the same meaning as the first word. 
 

195. Thankfulness: 
 

A. Greatness 
B. gratitude 

 

C. meanness 
 

D. goodness     ANS B 
 
 
 

Choose a word which has the same or nearly the same meaning as the first word. 

 
196. Study: 

 

A. Learn 
B. Enjoy 

 

C. Teach 
 

D. Remember     ANS A 
 

 

Choose a word which has the same or nearly the same meaning as the first word. 
 

197. Prohibit: 
 

A. Advertise 
B. Allow 
C. Forbid 
D. destroy ANS      ANS  C 

 

Choose a word which has the same or nearly the same meaning as the first word. 

 
198. Excitement: 

 

A. Enthusiasm 
B. Zeal 

 

C. Fuss 
 

D. Success    ANS A 
 

Complete the following simile: 
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199. Her gown is as green as: 
 

A. Grace 
B. grass 

 

C. flag 
 

D. butter     ANS B 
 

Complete the following simile: 
 

200. Olu is as hungry as a: 
 

A. Orphan 
B. wolf 

 

C. termites 
 

D. Thug ANS B 
 

201. He is as mischievous as: 
 

A. Satan 
B. monkey 

 

C. gazelle 
 

D. tortoise ANS B 
 

202.  
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